H & 0l & AHS B Ml A

SN SE AE D
M. CEALze
tel: S22 EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SR A4 11,737,414 12,168,335 A430,921
= 200,000
T 1,029,564
Al 10,507,850
Szadael 11,642,844 12,058,480 A415,636
= 200,000
= 1,029,564
Al 10,413,280
27 Xl2e| 6,931,844 7,109,480 A177,636
= 200,000
& 8,564
Al 5,783,280
T2RA B 3,186,280 3,196,280 A10,000
201 Ler23H| 9%,280 96,280 0
01 AtR2elt] 26,280 26,280 0
OZZRHEE ZHEY =2 5,000
OEERX dXt= 14,280
QY - SAAl WSALD &THE HMel 7,000
02 SE==29| 70,000 70,000 0
OEZANE=E S 222 70,000
206 =4l 65,000 65,000
01 =Yl 65,000 65,000
O RN 2 SAAHH 65,000
305 Hia=2S 25,000 30,000 A5,000
01 Hha 3= 25,000 30,000 5,000
OEZR A& Eoltia= 25,000
401 A& B2 20HY| 3,000,000 3,005,000 A5,000
01 Al&HI 2,995,000 3,000,000 5,000
OE=zRAE= 1,995,000
ozRAael & A 1,000,000
03 Al 0HYI 5,000 5,000 0
OEZRNES 5,000
S Y &0t 29 400,000 807,700 A407,700
201 B2 AY| 200,000 307,700 A107,700
01 AtR2telt] 200,000 307,000 A107,000
O=2 ¥ HoitizE Xt 193,000
022 ¥ Holitiz AEs 2 6,000
032 ¥ Haitis 22X L=l 1,000
206 =6l 200,000 500,000 300,000
01 =l 200,000 500,000 A300,000
Os2 % Hollti®s A 200,000
A Al 2 RXI2E 15,000 15,000 0
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SA HA AL
M c2283
&el: 2RIt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 45,500 0 45,500
oitsdy=z ol 45,500
AEEXS C2 Y 429,000 468,500 £.39,500
401 AlZHIZ S 0HbI 429,000 468,500 39,500
01 A28l 429,000 468,500 39,500
O==2Z YKl O+EIOL0lA! HHI(E O 0IA) 50,000
OL= ZY X QHEIOLOIA (F 00 &t) 40,000
OZAHAZ ATTHIAIS (ZO0il4) 18,000
OAHEZ I THEYl SAHE 004 50,000
Oa&22d T2 THEZE(FH 0 &) 30,000
O=g52 T2 ZYURX CHEIOHOI A (F U0
At) 20,000
ON=2HIRZ ATHE| SAHEHL) 50,000
OOINOtS 212 &2 SIEE S AHEC 04 50,000
OQlWZE QIZFH| A (E00flAH) 10,000
OQtHAZ MEY FATZ QHEIOI0la X
& A (F 00l 10,000
0O2EZ 2T £ FH| A (S00ll4H) 28,000
OZTFEIS U St WAl AP (R0l 10,000
OSE1s 2 LI Os2)EX(FN
il &) 6,000
OF=0tE Jt=dle EX1 AFZE (FHO 04 15,000
ONASFRUCHS OHIIE XY=Z OtAZ X
Z(Z0{04) 17,000
OBDEAY(AZ1-HUSH) P2 HERY ©
FALXI(F01044) 15,000
OXlaHI| &3 Hl AFS(Z0 A 10,000
FUUEOE TZ2EZMAE (T Z00A 600,000 207,000 393,000
< 600,000
401 AIZHIX S0HH 600,000 207,000 393,000
= 600,000
01 Al&H| 600,000 207,000 393,000
OFPENWE 2o 600,000
= 600,000
ACOIHA NSXSAIE A1 SAH& R S 20HA) 200,000 0 200,000
= 200,000
401 Al HIZ S OHbI 200,000 0 200,000
= 200,000
01 Al&H| 200,000 0 200,000
OMSIHAIE €X 200,000
= 200,000
BAZSSNE XA (Sete, E+E) 19,464 0 19,464
= 19,464
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M c2283
&el: 2RIt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 19,464 0 19,464
= 19,464
01 AlZ8| 19,464 0 19,464
OBa=2ctE ¥ E=== UA 19,464
< 19,464
et Kottt 24+ZAt 60,000 0 60,000
== 60,000
401 Al HIZ 2018 60,000 0 60,000
= 60,000
01 Al&HI 60,000 0 60,000
OXlotxte 2= 60,000
< 60,000
CZ e - EH 2,170,000 2,050,000 120,000
== 81,000
Al 2,089,000
el EEEA JE A 1,000,000 1,100,000 100,000
401 Al HIZL S 0HYI 1,000,000 1,100,000 100,000
01 Al&HI 1,000,000 1,097,000 A97,000
ool 2 o 1,000,000
wg MG 3 JeEy 100,000 100,000
401 AIZHIZL S OHE 100,000 100,000
01 Al&H| 100,000 100,000
Oug Mt & JEFHH 100,000
SES JlUHZ2(B21-17ad) S=2H4 500,000 500,000
401 Al HIZ S OHbI 500,000 500,000
01 AlZ2H| 500,000 500,000
OX= 24 & EHSA 500,000
s SIS AYE2(A23-118SH) &EHIA 300,000 0 300,000
401 Al HIZL S 0HYI 300,000 300,000
01 Al&HI 300,000 300,000
OEXl € N&dE 24| 300,000
gd2c Al AEEE & WA 270,000 360,000 80,000
= 81,000
Al 189,000
401 AIEHIX S0 270,000 350,000 80,000
= 81,000
Al 189,000
01 A28l 270,000 350,000 280,000
OANd= JENHEH & HAEsEDL 270,000
== 81,000
Al 189,000
CAHEZ Jd2XY e 2,541,000 2,899,000 A.358,000
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E M

Sl =8EE 3 & (CHl: & 2l)
SA - B BRA(SH) - HRA - of v e HIDE2
2s - 2ot 24 ¢ FHl 2,401,000 2,570,000 169,000

201 er23 | 2,000,000 1,850,000 150,000
2 35234l 2,000,000 1,850,000 150,000
ozs &IKks 1,590,000
O=ots &L= 390,000
OJIZ2S 2Yg Seald MsE 17,000
ORAZel 223 ME2 3,000
206 M=l 150,000 200,000 /50,000
01 MHZH| 150,000 200,000 50,000
OJ2s 2= KM 50,000
o=Zets 2=+ UM 50,000
o s+ & #5585 7Y 50,000
401 AIEHIZ SR 0HYI 251,000 520,000 269,000
01 Al&H| 250,000 518,500 268,500
ozs - B2ots e Y B 250,000
03 Al 2CHYI 1,000 1,500 2500
OJI2S - 2ots AId & 24 1,000
SINE 2SS AL Y] B E & B 40,000 80,000 40,000
401 AIZHIX S0HH 40,000 80,000 240,000
01 AlZH| 40,000 80,000 /40,000
ORJIE JIZ2S 2™ A OiHl & &
[SES 40,000
2s - 225 UHSEE)| €4 50,000 100,000 /50,000
401 AlEHIZL SO 50,000 100,000 /50,000
01 Al&HI 50,000 100,000 250,000
otzs - 2ots NsEEJ| £X 50,000
L= SJ17 0 WA 50,000 100,000 250,000
401 Al HIZ 2018 50,000 100,000 /50,000
01 Al&H| 50,000 100,000 50,000
OLEDSI I+ WM SAt 50,000
oA 2el M A 2= 40,290 44,790 4,500
THHOrM 2He | 27,040 29,540 A2,500
THEE 2 XHoH Ol 27,040 29,540 A2,500
201 Ler23 | 20,040 17,040 3,000
01 At2t2lt] 7,590 4,590 3,000
OM ol Ha&s 29 4,590
OZHIS A= 800
OJIMEE Ho22NL S| 2,200
02 s3=gHl 12,450 12,450 0
0Z332= % HMAl 5,000
OXte &ty 5,000
OMS I AIEEHl 7l 2,450
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Ha A4

2 THoH = 22l MAH 2=
Rl Atetd e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 5,000 7,500 22,500
01 MHZH| 5,000 7,500 22,500
OMaltHz S2=+ A 5,000
302 O|=H Mol 2a= 2,000 5,000 /3,000
02 2RI S ES243 2,000 5,000 3,000
Ot L Mollgs 24 2,000
Qe 2l 13,250 15,250 A2,000
2EAAE =R 2 13,250 15,250 A2,000
201 2= 10,250 10,250 0
2 S22l 10,250 10,250 0
0Z33x2= % HMAl 2,000
OAE&Hl sXbl 8,250
206 MH=Hl 3,000 5,000 22,000
01 MZH| 3,000 5,000 A2,000
OLAIE XM 3,000
HYRHZHI(HE H& D) 54,280 65,065 10,785
JlE2ge(ed A4 n) 54,280 65,065 210,785
JlEZe("a AL 54,280 65,065 210,785
201 er23| 31,082 36,937 Ab,855
01 At2tltl 26,082 33,437 NT7,355
Oggt+==H| 14,904
O] 11,178
02 S3=gHl 5,000 3,500 1,500
O0332= % HA 5,000
202 04| 18,878 23,328 A4,450
01 =LHO LI 18,878 23,328 AN4,450
OJl=gR=d0H| 18,878
203 HR=H] 4,320 4,800 A480
M EAEZER=A 4,320 4,800 A480
ORNEgE =AY
360,000 x 12 4,320




